
Summer Break Packet 

 

 

This packet covers all of the prerequisite skills needed for your Algebra I class. You 

are responsible for completing this packet before the first day of school, and a 

reminder that this packet will be graded! 

  



 

1. 20, 45, 87, 34, 105, 12 

2. 4, 12, 33, 99, 36, 74, 54 

3. 22, 64, 33, 91, 127, 100, 83 

4. 34, 23, 54, 45, 19, 20 

5. 56, 102, 124, 45, 89, 78 

  



 

Find the GCF 

1. 24, 6 

2. 48, 20 

3. 3x2, 2x 

4. 7x2y2, 21y 

Find the LCM 

1. 2, 3 

2. 12, 4 

3. 10x, 5x 

4. 3x2y, 5xy2 

  



 

Simplify each expression 

1. 
25

5
 

2. 
10

120
 

3. 
15𝑥2

3𝑥
 

4. 
10𝑎3𝑏4

2𝑎8𝑏2  

Solve for x 

1. 
6

12
 = 

𝑥

3
 

2. 
2

8
 = 

𝑥

2
 

Write as an improper fraction 

1. 5
3

5
 

2. 3
1

3
 

Write as mixed numbers 

1. 
9

2
 

2. 
−41

7
 

Simplify each expression 

1. 
2

5
+

7

5
 

2. 
6

4
−

10

12
 

3. 
7

2
∗

4

7
 



4. 
8

2
÷

3

2
 

5. 
10

5
+

3

20
 

6. 
1

3
−

5

2
 

7. 
3

2
∗

7

10
 

8. 
9

8
÷

3

2
 

 

Simplify each expression 

1. 72 – (3+8) 

2. 2(7 - 10) + 52 

3. 3(52 – 32) – 7(22 + 42) 

4. |-37| - 23 

5. 
48−2(52)

6(2−32)
 

  



 

Simplify each expression 

1. 12 – 3 

2. 22 + 19 

3. 3 * 32 

4. 24 ÷ 4 

5. There is a 10° drop in temperature over the past hour. If it is 74° now, what was the 

temperature an hour ago? 

6. It is −23° now. The temperature will drop 10° in two hours. What will the temperature be in two 

hours? 

  



 

1. x + y 

2. xy2 

3. x2 – y2 

4. 2x(3 + y) 

5. 5x – 3y + x2 

 

1. 2 x 4 = 4 x 2 

2. 1y = y 

3. 5 + 0 = 5 

4. 4 + 2 + 5 = 5 + 4 + 2 

5. 2 x 7 x 8 x 10 = 10 x 2 x 7 x 8 



 

Solve each equation 

1. 2x – 7 = 7 

2. 3x + 10 = 40 

3. x + 5 = 2x – 3 

4. 10 – 10x = 5x + 5 

5. 5x – 15 = 3x + 2 

6. 10x = 5 

7. 4x + 3 = 15 

8. x + 6 = 13x 

9. 12x + 2 = 5x – 7 

10. x – 4 = x – 3 

  



 

1. x – 3 > 7 

2. 3x + 1 < 40 

3. x < 2x – 3 

4. 10 – 10x > + 5 

5. 6x – 15 > 3x 

6. 50x < 5 

7. 2x + 3 > 15 

8. x - 12 < 13x 

9. 2x + 1 > 5x – 7 

10. 4x – 4 < x – 1 

  



 

Tell whether each ordered pair is a solution of the equation. 

1. 2x + y = 5 (2,1) 

2. 4x – 3y = 10 (4,3) 

Find the intercepts of the equations graph. 

3. 2x + 6x = -24 

4. 10x – 3y = 30 

Find the slope, given the points on the line 

5. (3, 2) and (5, 6) 

6. (2, 1) and (7, 10) 

Identify the slope and y-intercept of the line with the given equation. 

7. 3x + 6y = 36 

8. 2x – 12y = 48 

Write an equation of the line that is parallel to the given line and passes through the given point. 

9. y = -2x+6 (0, -4) 

10. -2x + 3y = 12 (3, 2) 

Graph each equation 

11. Y = 2x – 7 

12. Y = 5x + 1 

  



 

Write the polynomial in standard form 

1. 2x – 3 + 5x2 

2. 10 – 2x2 + 12 

Find the sum or difference 

3. (2x2 + 3x – 10) + (5x2 – 6x + 4) 

4. (10x2 + 2x – 1) - (3x2 +3x + 12) 

Find the product or quotient.  

5. 3x(x – 9) 

6. (x – 2)(x + 3) 

7. 
2𝑥2+5𝑥

𝑥
 

8. (x + 5)(x – 5) 

9. 2x2(x2 + 10) 


